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Perfformiad yr holl ymgeiswyr ar draws y cwestiynau

Teitl y cwestiwn N Sgôr gymedrig GS Marc uchaf Ff H Cynnig %
1 3905 5.8 0.7 6 97.4 100
2 3906 3.9 0.8 5 78.4 100
3 3907 9.2 2.8 14 65.5 100
4 3905 4.3 1.4 6 72 100
5 3903 11.2 3.8 19 58.7 99.9
6 3897 6.7 2.2 10 66.7 99.7
7 3189 17.1 8.3 40 42.6 81.6
8 354 16.1 8.5 40 40.4 9.1
9 323 15.2 9.1 40 38 8.3

10 33 8.8 6.7 40 22 0.8
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Sticky Note
Rhif y cwestiwn fel arfer

Sticky Note
Nifer yr ymgeiswyr sy’n ceisio ateb y cwestiwn


Sticky Note
Cyfrifir y sgôr gymedrig trwy adio sgorau'r ymgeiswyr unigol a'u rhannu â chyfanswm nifer yr ymgeiswyr. Os bydd yr ymgeiswyr i gyd yn cyflawni'n dda ar eitem arbennig, bydd y sgôr gymedrig yn agos at yr uchafswm marciau. I'r gwrthwyneb, os bydd ymgeiswyr yn gyffredinol yn cyflawni'n wael ar yr eitem bydd gwahaniaeth mawr rhwng y sgôr gymedrig a'r uchafswm marciau. Bydd cymharu'r marciau cymedrig yn syml yn dwyn sylw at yr eitemau hynny sy'n cyfrannu'n arwyddocaol at berfformiad cyffredinol yr ymgeiswyr. Fodd bynnag, gan nad oes i bob eitem yr un uchafswm marciau, arwydd rhannol yn unig o berfformiad ymgeiswyr a geir trwy gymharu'r cymedrau. Nid yw cael cymedrau cyfartal o anghenraid yn golygu perfformiad cyfartal. Os oes gan gwestiynau uchafswm marciau gwahanol, dylid defnyddio'r ffactor hygyrchedd i gymharu perfformiad.


Sticky Note
Mae'r gwyriad safonol yn mesur gwasgariad y data o gwmpas y sgôr gymedrig. Po fwyaf yw'r gwyriad safonol, mwyaf gwasgaredig (neu lai cyson) yw perfformiadau'r ymgeiswyr am yr eitem honno. Mae cynnydd yn y gwyriad safonol yn tueddu i fod yn arwydd o amrywiaeth gynyddol o blith ymgeiswyr, neu o bapur sy'n gwahaniaethu fwy, gan fod y marciau'n fwy gwasgaredig o gwmpas y canol. Mewn gwrthgyferbyniad, byddai gostyngiad yn y gwyriad safonol yn awgrymu bod mwy o unffurfiaeth ymhlith yr ymgeiswyr, neu bod llai o wahaniaethu ar y papur, gan fod marciau'r ymgeiswyr wedi'u clystyru fwy o gwmpas y canol.


Sticky Note
Uchafswm y marciau ar gyfer cwestiwn arbennig.

Sticky Note
Mae ffactor hygyrchedd eitem yn mynegi'r marc cymedrig fel canran o'r uchafswm marciau (Uchaf. Marciau) ac yn fesur o hygyrchedd yr eitem. Os yw'r marc cymedrig a enillir gan yr ymgeiswyr yn agos at yr uchafswm marciau, bydd y ffactor hygyrchedd yn agos at 100 y cant a'r eitem yn cael ei hystyried yn hygyrch iawn. Fodd bynnag, os yw'r marc cymedrig yn isel o'i gymharu ag uchafswm y sgôr, bydd y ffactor hygyrchedd yn fychan a'r eitem yn cael ei hystyried yn llai hygyrch i'r ymgeiswyr.

Sticky Note
Mae'r tabl, i bob eitem, yn dangos nifer (N) a chanran yr ymgeiswyr wnaeth roi cynnig ar y cwestiwn. Wrth gymharu eitemau ar y mesur hwn mae'n bwysig ystyried trefn ymddangos yr eitemau ar y papur. Os oes cyfanswm amser cyfyngedig i'r papur, mae'n bosibl na fydd gan rai ymgeiswyr ddigon o amser i gwblhau'r papur. Gall hyn olygu, yn ôl y mesur hwn, fod gan yr eitemau hynny sydd ar ddiwedd y papur ffigur datchwyddedig. Os nad ystyrir bod yr amser a ddyrannwyd am y papur yn ffactor arwyddocaol, gall canran isel olygu bod problemau hygyrchedd. Pan fydd ymgeiswyr yn cael dewis cwestiwn mae'r ystadegau'n dangos blaenoriaethau'r ymgeiswyr, ond dylanwad y polisi addysgu yn y ganolfan hefyd.
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Unit 1 
 


Compulsory Core 
 


Question Answer Marks 


1 One mark for each correct answer: 
Deviant, questionnaire, peer group, Stereotype, morals, sample 


6 
 


2 (a) Award one mark for any suggestion that is drawn directly from the passage, 
such as multiple wives or paying for a wife. 


1 


2 (b) Award one mark for any answer suggesting that this term refers to expected 
behaviours for the biological sexes.  This must be a social and not a biological 
response. 


1 


2 (c) Award one mark for any suggestion that is drawn directly from the passage, for 
example, farming or brewing. 


1 


2 (d) Unacceptable answers will not explain a traditional gender role. 
 
One mark is awarded to very basic answers that touches on either gender, 
tradition or roles. 
 
Women do housework. 
 
Two marks each will be awarded to more detailed explanatory answers that 
apply some understanding to the question. 
 
Women do housework and look after the home. 


2 
 


3 (a) Award one mark for any suggestion that is drawn directly from the passage, 
such as teamwork or friendship.  Others are possible. 
 


1 
 


3 (b) Unacceptable answers will not explain socialisation or will refer to it in terms of 
social activity. 
 
One mark is awarded to basic answers that suggest it is how people learn to 
behave as part of society for example. 
 
Socialisation is when children learn how to act. 
 
Two marks each will be awarded to full and detailed answers that detail social 
phenomena in some way.  Technical understanding of socialisation is required.  
There should be some sense of process and of learning. 
 
Socialisation is how people learn the expected rule for society. 


2 


3 (c) Unacceptable answers will not explain how parents channel children. 
 
One mark is awarded to basic answers that explain canalisation in some way 
without specific detail. 
 
Parents push their children into certain activities or sports. 
 
Two marks each will be awarded to full and detailed answers that apply 
understanding to the question.  There may be reference to processes such as 
canalisation.  Accept any reasonable example. 
 
Parents push their children into certain activities or sports, for example parents 
take girls to ballet and boys to football. 


2 


 


  







© WJEC CBAC Ltd. 


2 


 


Question Answer Marks 


3 (d) Unacceptable answers will not identify a norm. 
 


One mark is awarded to very basic answers that identify the meaning of norm. 
 


A norm is a normal expected behaviour. 


1 


3 (e) Unacceptable answers will be factually incorrect or offer no insight into norms. 
 


One mark each is awarded to a basic example of a norm. 
 


It is normal to change into sports clothes (identification). 
 


For two marks there will be some development or explanation. 
 


It is normal to change into sports clothes such as football kit (identification and 
example). 
 


For three marks, there will be sociological understanding and explanation of the 
term and some sense of context or language (sanctions). 
 


It is normal to change into sports clothes such as football kit because people are 
expected to wear special clothes for sports. 


3 


3 (f)  
 
 
 


The most appropriate method is a questionnaire as quantitative data is sought.  
This is one mark.  Accept reasonable alternatives such as a diary or pedometer. 
 


For one mark accept a common sense reason, such as it is easy or quick. 
 


For two marks, there should be sociological content, such as mention of terms 
such as reliable, practical, quantifiable. 


1 + 2 


3 (g) Unacceptable answers will offer responses that do not address the issue or 
simply offer answers that are common sense.  A problem should be clearly 
identified and contextualised. 
 


One mark is awarded to basic answers that may offer a specific problem such as 
ethics, or which offer an account of that method without sociological content. 
 


One problem is that children may lie about what they do. 
 


Two marks will be awarded to full answers which offer both a problem and/or 
specific understanding of the research process.  There will be sociological 
content and terminology. 
 


One problem is that children lie and the research lacks validity. 


2 


4 (a) 25% (note, the % mark is necessary here) 1 


4 (b) The way of life of a group of people or variations of this. 1 


4(c) Look for something from the passage: tradition, language, music, history. 2 


4 (d) Unacceptable answers will show no understanding of the term sampling. 
 


For one mark accept any method of sampling that is named or for a process of 
sampling. 
 


For second mark, credit anything that show some understanding of the method. 


 
 


1 + 1 
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Question Answer Marks 


5 (a) One mark for an explanation relating to parental complaints. 1 


5 (b) There is one mark available for three suggestions of toys: construction toys, 
sport or fighting examples are appropriate. 


1 


5 (c) Nature theory or biological theory. 1 


5 (d) Unacceptable answers will offer responses that do not address the issue or 
simply offer answers that are common sense. 
 
One mark awarded to a very basic answer that may be underdeveloped but 
shows some understanding that nurture theory suggests we learn how to 
behave. 
 
For three marks, there will be a detailed and full answer with an example which 
may be drawn passage, perhaps referring to gender roles or from wider 
sociological knowledge.  Sociological language will be used. 
 
Nurture theory is the idea that we learn how to behave from agencies of 
socialisation such as the family. 


3 


5 (e) (i) 
 
 
 
 


   (ii) 


Unacceptable answers will offer responses that do not address the issue or 
simply offer answers that are common sense. 
 
One mark is awarded to an example. 
 
One mark is awarded to an understanding that feral children have not been 
socialised: the children did not know how to act as they have not been taught. 
 
For two marks, there will be a detailed and full answer with which may be drawn 
from passage, perhaps referring to gender roles or from wider sociological 
knowledge.  Sociological language will be used. 
 
Feral children such as Oxana Malaya is evidence of nurture theory because she 
was not socialised by human and acted like a dog. 


1 + 2 
 
 
 
 
 


5 (f) One mark is available for a simplistic comment linking social learning to media. 
 
A second mark is available for an example that is not developed. 
 
Three marks are available for an answer which shows understanding of the 
terms and offers a simplistic account of process but is common sense in 
approach. 
 
Four marks are available for answers which define the terms and explain the 
debate with some sociological language and explicit understanding. 
 
Five marks are available for a full and developed answer that offers mention of 
both genders, and perhaps uses technical language such as representation, 
stereotypes, male and female roles. 


5 
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Question Answer Marks 


5 (g) 
 
 
 


The most appropriate method is an observation as qualitative data is sought.  
This is one mark. 
 
For one further mark accept a common sense reason, such as you can see what 
people do. 
 
For two marks there should be sociological content, such as mention of terms 
such as valid, depth, understanding. 
 


1 + 2 
 


5 (h) Unacceptable answers will offer responses that do not address the issue or 
simply offer answers that are common sense. 
 
One mark is awarded to basic answers that show some vague awareness of a 
problem such as ethics. 
 
Two marks will be awarded to full answers which offer a reasoned, 
contextualised or sociological account of a problem, identifying a particular issue 
such as ethics validity or reliability. 
 


2 


6 (a) Any suggestion from the passage such as cyber-bullying. 
 


1 


6 (b) For one mark there will be a common sense reason such as they all look the 
same. 
 
For two marks, there will be some sort of social context, they all look the same 
and are more equal so they feel part of the group. 
 


2 


6 (c) This is an open question and candidates may offer a variety of plausible 
suggestions.  Any answers that show insight will be credited regardless of the 
situation offered. 
 
For one mark there will be a common sense reason such as to make sure they 
behave. 
 
For two marks, there will be some sort of social context, so that there is 
discipline and people all follow the rules. 
 


2 


6 (d) Unacceptable answers will offer responses that do not address the issue or 
simply offer answers that are common sense. 
 
One mark is awarded for understanding of each term, one mark for each 
appropriate example and one mark for a stated difference. 
 


5 


 


  












Sticky Note

Fel nifer fawr o'r ymgeiswyr, cafodd y ymgeisydd farciau llawn am y cwestiwn hwn. 











Sticky Note

Diffiniad gyda peth egluro cymdeithasegol. 



Sticky Note

1 marc. Braidd yn gyffredinol. Y roedd angen enghraifft mwy penodol.







Sticky Note

Diffiniad cryno. Roedd llawer o'r ymgeiswyr wedi methu ag ennill marc am y cwestiwn hwn. 



Sticky Note

2 farc. Roedd angen cysylltu gyda norm penodol er mwyn ennill y trydydd marc. 



Sticky Note

Mae'r cwestiwn yn awgrymu bod angen data meintiol.



Sticky Note

1 marc yn unig. Mae'r ateb yn gywir o safbwynt cyfweliad anstrwythiedig ond does dim termau technegol yn cael eu defnyddio.



Sticky Note

Ateb cyffredinol iawn. 







Sticky Note







Sticky Note

Fel llawer o'r ymgeiswyr eraill, nid yw'r ymgeisydd wedi nodi dull samplu. Yn gyffredinol, mae dealltwriaeth yr ymgeiswyr o samplu yn wan. 











Sticky Note

Mae peth dealltwriaeth yma. Roedd angen datblygu i ennill y trydydd marc. Byddai cynnwys termau technegol yn ychwanegu at yr ateb. 



Sticky Note

Er i'r ymgeisydd gal dau farc, byddai'r ateb yn well pe byddai wedi cyfeirio at rhan olaf y cwestiwn; cynnig tystiolaeth o blaid damcaniaeth magwraeth.



Sticky Note

Doedd dim angen y ddwy frawddeg gyntaf. Felly, beth sydd yma yw un enghraifft o blant yn dysgu rolau rhywedd. Mae'r ateb yn cyfeirio at y copio ond byddai cynnwys enghraifft penodol yn gwella'r ateb. Dylid sylwi bod y cwestiwn yn gofyn am enghreifftiau a dim ond un enghraifft sydd yma.







Sticky Note

1 marc. Er mwyn ennill yr ail marc roedd angen defnyddio termau cymdeithasegol neu dangos o ymwybyddiaeth o gyd-destun yr ymchwil.



Sticky Note

Mae ymdrech eitha da yma i gysylltu y syniad o ganiatad gwybodys gyda y cysyniad o ddilysrwydd y wybodaeth sy'n cael eu gasglu. 















Sticky Note

4 marc. Ateb cywir ond yn anffodus does dim cyfeiriad at y gwahaniaeth rhwng sancsiynau ffurfiol ac anffurfiol. 
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ADRAN A


Atebwch bob cwestiwn yn y lleoedd gwag priodol ar y papur.


1.	 Defnyddiwch y termau yn y blwch isod i ateb y cwestiynau.


	 (a)	 Pa derm sy’n cael ei ddefnyddio i ddisgrifio person sy’n torri normau a gwerthoedd 
cymdeithasol?	 [1]


		  . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . .  


	 (b)	 Pa derm sy’n cael ei ddefnyddio i ddisgrifio rhestr o gwestiynau, sydd fel arfer ar bapur?
			   [1]
		  . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . .  


	 (c)	 Pa derm sy’n cael ei ddefnyddio i ddisgrifio pobl sy’n debyg o ran oedran neu gefndir?		
	 [1]


		  . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . .  


	 (ch)	 Pa derm sy’n cael ei ddefnyddio i ddisgrifio categori byddwn ni’n rhoi pobl ynddo yn ôl 
nodweddion syml?	 [1]


		  . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . .  


	 (d)	 Pa derm sy’n cael ei ddefnyddio i ddisgrifio ymdeimlad o’r hyn sy’n dda neu’n ddrwg?	 [1]


		  . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . .  


	 (dd)	 Pa derm sy’n cael ei ddefnyddio i ddisgrifio grŵp o bobl sy’n cael ei astudio mewn 
ymchwil?	 [1]


		  . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . .  


gwyrdroëdig       stereoteip       moesau       grŵp cyfoedion       holiadur       sampl
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2.	 Edrychwch ar yr eitem isod ac atebwch y cwestiynau sy’n dilyn.


	 (a)	 Gan ddefnyddio’r eitem, nodwch un o draddodiadau teuluol y Zwlw sy’n wahanol i 
ddiwylliant Prydain.	 [1]


	


	


	 (b)	 Diffiniwch y term rhywedd (gender).	 [1]


	


	


	 (c)	 Gan ddefnyddio’r eitem, nodwch un rôl rhywedd fenywaidd yn niwylliant y Zwlw.	 [1]


	


	


	 (ch)	 Amlinellwch ac eglurwch yn gryno un rôl rhywedd fenywaidd draddodiadol yn y
		  gymdeithas ym Mhrydain.	 [2]


	


	


	


	


	


Mae traddodiadau teuluol yn niwylliant y Zwlw yn wahanol iawn i ddiwylliant Prydain.
Yn niwylliant y Zwlw, gall dyn gael nifer o wragedd. Mae cael llawer o wragedd 
yn arwydd o statws uchel. Gall y wraig gyntaf roi help i’w gŵr ddewis gwragedd 
ychwanegol gan y bydden nhw’n gallu ei helpu hi i wneud gwaith menywod fel ffermio 
yn y caeau a gwneud cwrw. Bydd dynion yn talu am wraig trwy roi gwartheg i’w thad.
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3.	 Edrychwch ar yr eitem isod ac atebwch y cwestiynau sy’n dilyn.


	 (a)	 Gan ddefnyddio’r eitem, nodwch un sgìl cymdeithasol mae plant yn ei ddysgu drwy 
chwaraeon.	 [1]


	


	 (b)	 Diffiniwch y term cymdeithasoli.	 [2]


	


	


	


	


	


	 (c)	 Gan roi enghraifft, eglurwch sut gall rhieni ddylanwadu ar y dewis o weithgaredd 
chwaraeon mae eu plant yn ei wneud.	 [2]


	


	


	


	


	


Mae rhieni’n annog plant i gymryd rhan mewn chwaraeon oherwydd eu bod yn credu 
y bydd hyn yn golygu eu bod yn tyfu yn oedolion iach a hapus. Mae’n rhan werthfawr 
o’r broses gymdeithasoli. Mae chwaraeon yn addysgu sgiliau cymdeithasol fel 
gwaith tîm a chyfeillgarwch. Hefyd, mae plant yn dysgu ymdeimlad o berthyn i grŵp 
cymdeithasol a derbyn rheolau’r gêm.
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	 (ch)	 Diffiniwch ystyr y term norm.	 [1]


	


	


	 (d)	 Gan roi enghraifft, eglurwch sut gall plant ddysgu normau drwy gymryd rhan mewn 
chwaraeon.	 [3]


	


	


	


	


	


	


	


	 (dd)	 Mae ymchwilydd yn ymchwilio i nifer yr oriau mae plant wedi ei dreulio yn cymryd rhan 
mewn chwaraeon a chwarae bywiog (active play). Awgrymwch ddull addas a allai gael ei 
ddefnyddio a rhowch un rheswm pam gwnaethoch chi ei ddewis.	 [1 + 2]


	 (i)	 Dull


	


	 (ii)	 Rheswm dros eich dewis o ddull


	


	


	


	


	


	 (e)	 Amlinellwch un broblem gall ymchwilydd ei chael wrth gynnal ymchwil i chwarae a 
gweithgaredd chwaraeon plant.	 [2]
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4.	 Edrychwch ar y wybodaeth ganlynol o wefan BBC Cymru ac atebwch y cwestiynau sy’n dilyn.


	 Addasiad o wefan BBC Cymru


	 (a)	 Gan ddefnyddio’r eitem, tua pa ganran o blant sy’n cael eu haddysg drwy gyfrwng y 
Gymraeg?	 [1]


	


	 (b)	 Beth yw ystyr cymdeithasegol y term diwylliant?	 [1]


	


	


	 (c)	 Gan ddefnyddio’r eitem, nodwch ddwy o elfennau diwylliant.	 [2]


	


	


	


	


	


Mae llawer o rieni yng Nghymru yn dewis anfon eu plant i gael addysg mewn 
ysgolion cyfrwng Cymraeg. Mae tua 25% o blant yng Nghymru yn mynd i ysgolion 
lle mae’r athrawon yn defnyddio’r iaith Gymraeg. Mae’r rhieni yn credu bydd eu 
plant yn cael y fantais o ddysgu am ddiwylliant a hunaniaeth Gymreig. Bydd y 
plant yn dod i ddeall traddodiadau pobl Cymru ac yn dysgu am eu llenyddiaeth, eu 
hanes a’u cerddoriaeth.
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	 (ch)	 Mae ymchwilydd eisiau sicrhau sampl o rieni sydd â’u plant yn cael eu haddysg mewn 
ysgolion cyfrwng Cymraeg. Enwch ddull samplu allai gael ei ddefnyddio a rhowch un 
rheswm byr dros eich dewis o ddull.	 [1 + 1]


	 (i)	 Dull samplu


	


	 (ii)	 Rheswm dros y dewis o ddull samplu
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5.	 Edrychwch ar yr eitem isod ac atebwch y cwestiynau sy’n dilyn.


	 (a)	 Gan ddefnyddio’r eitem, awgrymwch pam mae rhai siopau teganau ym Mhrydain yn addo 
peidio â gwerthu teganau yn ôl rhywedd.	 [1]


	


	


	


	 (b)	 Enwch dri o deganau traddodiadol sy’n cael eu rhoi i fechgyn.	 [1]


	


	


	


	 (c)	 Pa ddamcaniaeth sy’n awgrymu bod bechgyn a merched yn cael eu geni i ymddwyn yn 
wahanol?	 [1]


	


Mae rhai siopau teganau ym Mhrydain yn addo peidio â gwerthu teganau yn ôl 
rhywedd (gender). Mae rhieni a phlant wedi mynnu y dylai pob tegan apelio at 
ferched a bechgyn hefyd. Er bod llawer o wyddonwyr yn credu bod bechgyn a 
merched yn chwarae’n wahanol, mae rhieni wedi dweud bod y gwahaniaethau hyn 
yn cael eu gwneud hyd yn oed yn fwy pwysig oherwydd y ffordd mae teganau, 
gemau, dillad a llyfrau yn cael eu targedu at rolau rhywedd traddodiadol ar gyfer 
merched a bechgyn.
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	 (ch)	 Eglurwch ystyr y term damcaniaeth magwraeth.	 [3]


	


	


	


	


	 (d)	 (i)	 Rhowch enghraifft o blentyn gwyllt (feral) neu heb ei gymdeithasoli.	 [1]


	


	 (ii)	 Eglurwch sut mae plant gwyllt neu heb eu cymdeithasoli yn cynnig tystiolaeth o 
blaid damcaniaeth magwraeth.	 [2]


	


	


	


	


	 (dd)	 Gan roi enghreifftiau, eglurwch yn llawn sut mae plant yn gallu dysgu rolau rhywedd oddi 
wrth y cyfryngau.	 [5]
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	 (e)	 Mae ymchwilwyr yn gwneud ymchwil i ymddygiad rhieni wrth iddyn nhw chwarae â’u
		  plant. Awgrymwch ddull addas a allai gael ei ddefnyddio a rhowch un rheswm dros
		  ddewis y dull hwn.	 [1 + 2]


	 (i)	 Dull


	


	 (ii)	 Rheswm dros ddewis y dull hwn


	


	


	


	


	 (f)	 Amlinellwch un broblem gall ymchwilwyr ei chael wrth astudio sut mae rhieni yn chwarae 
â’u plant.	 [2]
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6.	 Edrychwch ar yr eitem isod ac atebwch y cwestiynau sy’n dilyn.


	 (a)	 Gan ddefnyddio’r eitem, awgrymwch un rheswm pam efallai mae ysgolion yn gwahardd 
ffonau symudol yn y dosbarth.	 [1]


	


	 (b)	 Eglurwch un rheswm cymdeithasol pam mae llawer o ysgolion yn mynnu bod disgyblion 
yn gwisgo gwisg ysgol.	 [2]


	


	


	


	


Mae rhai ysgolion wedi gwahardd defnyddio ffonau symudol yn y dosbarth. Mae’r 
rhesymau sy’n cael eu rhoi yn cynnwys y ffaith bod seiberfwlio (cyber-bullying) wedi 
digwydd a bod disgyblion yn defnyddio eu ffonau pan ddylen nhw fod yn gweithio. 
Mae pobl yn dweud bod ffonau yn ddrwg i ddisgyblaeth. Gall athrawon gymryd 
ffonau oddi ar y plant a defnyddio sancsiynau eraill os ydyn nhw’n eu gweld mewn 
gwersi. Mae athrawon eraill wedi dangos i ddisgyblion sut i ddefnyddio ffonau i 
helpu eu dysgu personol. 
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	 (c)	 Awgrymwch ac eglurwch un rheswm pam mae angen i ysgolion reoli plant.	 [2]


	


	


	


	


	 (ch)	 Eglurwch yn llawn y gwahaniaeth rhwng sancsiynau ffurfiol ac anffurfiol.	 [5]
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Option answers: Question 7 Family 
 


(a) Describe ways in which families have changed in recent years. [10] 
 


 The mark scheme is awarding marks for knowledge and understanding and the 
ability to apply this knowledge and understanding within sociological context.  There 
should be sociological language applied to specific examples.  The focus of the 
answer should be on description of changes to families. 


 


 Look for answers that may offer specific knowledge of the variety of family change.  
This could include mention of new family forms.  To gain marks that are above level 1 
and level 2, there should be additional information provided that is not drawn from 
information given on the paper and possibly rephrased.  Answers should be 
sociological rather than personal in time. 


 


 Credit 


 Accurate use of sociological language, concepts and theory, if relevant. 


 Reference to clear understanding of differences in family structure and/or roles. 


 Reference to changes in families drawn from British culture, but focussed on the 
terms of the question. 


 Evidence of examples drawn from different cultures. 
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7 (a) Level 1  Limited (0 - 2 marks) 
Limited answers will offer responses that display little evidence of 
knowledge or understanding of traditional nuclear family.  If some relevant 
factual material is used then up to 2 marks are available. The quality of 
written communication will be basic. 
 
Level 2  Basic (3 - 5 marks) 
Three marks are available for basic answers that may address the 
question but may be underdeveloped and vague. The information offered 
will be basic and sociological language will not be used accurately.  
 
At the upper end of this mark band, there may be specific mention of roles 
and functions of family members. The quality of written communication will 
be acceptable, although there may be errors of spelling and punctuation. 
 
Level 3  Breadth or Depth (6 - 8 marks) 
Six marks are available for answers that offer a clear reference to the 
terms of the question, though description may be underdeveloped. There 
will be evidence of breadth or depth of knowledge and understanding. 
 
The information offered will display accuracy and sociological language 
will be used. At the upper end of this mark band, there may be specific 
mention of family change and changes in the role and behaviour of 
children.  The quality of written communication will be clear, with few 
errors of spelling, grammar and punctuation. 
 
Level 4  Breadth and Depth (9 - 10 marks) 
Nine marks are available for detailed answers that offer a specific and 
accurate knowledge and understanding of childhood and perhaps offer 
understanding that childhood is undergoing change or is perceived as 
threatened. The information offered will display accuracy and sociological 
language will be used.  
 
At the upper end of this mark band, understanding may be displayed 
through contrasting and comparative descriptions of changes in childhood 
or reference to examples although this is not specified in the question and 
should not be used as a differentiator. At this level, there will be a 
balanced response, perhaps with reference to theory or research. 
Answers will demonstrate a good application of knowledge. The quality of 
written communication will be good, with few errors of spelling, grammar 
and punctuation. 


5 
5 


AO 1 
AO 2 
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(b) Explain reasons why the roles of men and women in the family have changed. [10] 
 
Look for answers that may offer a list of reasons for changes in the roles of men and 
women.  It may be that a number of suggestions are considered and answers display 
breadth or that two reasons are considered but answers display depth of understanding.  
The focus must be on families and not wider society such as work, unless it is related to 
the family.  Answers that respond in only a personal, common sense or emotional 
fashion may be credited if this can be justified sociologically but should not appear in the 
top two mark bands.  
 
Credit 


 Accurate use of sociological language, concepts and theory, if relevant. 


 Changing work patterns. 


 Medical technology. 


 Secularisation. 


 Contraception. 


 Norms, values and mores. 


 Expectations. 


 Divorce and singlehood. 


 New Man. 


 Unemployment. 


 Equal opportunities for women 


 Crisis of Masculinity. 


 References to theory, for example Parsons and the warm bath theory. 


 Applied examples that may have been studied in class. 
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7 (b) Level 1  Limited (0 - 2 marks) 
Limited answers will offer responses that display little evidence of 
knowledge or understanding of single parenthood. If some relevant 
factual material is used then up to 2 marks are available. The quality of 
written communication will be basic. 
 


There will be little or no evidence drawn from different sources. 
 


The quality of written communication will be basic. 
 


Level 2  Basic (3 - 5 marks) 
Up to five marks are available for basic answers that may address the 
question. Responses may be underdeveloped and vague. The 
information offered will be minimal and sociological language will not be 
used accurately.  
 


At the upper end of this mark band, there may be specific reference to 
either legal issues or grounds for single parenthood, though responses 
may focus on emotional disconnection and failure of relationships. It may 
show evidence of emotional involvement and bias. There will be some 
evidence drawn from different sources including practical applications. 
This may be interpreted. 
 


The quality of written communication will be acceptable, although there 
may be errors of spelling and punctuation. 
 


Level 3  Breadth or Depth (6 - 8 marks) 
Six marks are available for answers that offer a clear reference to specific 
reasons why societies' cultures have some form of family structure, 
though evaluation and analysis may be unbalanced. There will be 
evidence of breadth or depth of knowledge and understanding. 
 


The information offered will display accuracy and sociological language 
will be used. At the upper end of this mark band, there may be specific 
reference to questions of legality, secularisation and social change.  Not 
all of these elements of the significance of legal status may be present or 
equally detailed. 
 


The quality of written communication will be clear, with few errors of 
spelling, grammar and punctuation. 
 


Level 4  Breadth and Depth (9 - 10 marks) 
Nine marks are available for detailed answers that offer a specific and 
accurate knowledge and understanding of the function of the family.  
There may be reference to different cultures and how family forms 
develop.  The information offered will display accuracy and sociological 
language will be used.  
 


At the upper end of this mark band, understanding will be displayed 
throughout the question.  There may be reference to theory of family. 
 


Candidates may question the significance or importance of marriage. 
Answers will demonstrate a good application of knowledge with examples 
and specific factual evidence.  
The quality of written communication will be good, with few errors of 
spelling, grammar and punctuation. 


5 
 
5 


AO 1 
 


AO 2 
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7. (c) Using sociological knowledge, discuss reasons why there are changing 
attitudes to divorce in modern Britain. [20] 


 


 Look for answers that may offer specific discussion of reasons why attitudes 
towards divorce are changing, perhaps identifying forms of change and 
offering reasons for family change.  There may be reference to the ideology of 
the nuclear family and how it is in decline.  There should be reference to a 
variety of reasons for change such normative change, legal change, 
secularisation, media representation.  The impact of rising divorce rate on 
attitudes to divorce may be discussed.  Myth-based answers such as 
increasing numbers of teenage mothers should be disregarded. 


 


 List-like and overly descriptive answers should not appear in the top two mark 
bands.  There may be some evidence of analysis or judgements relating to 
the significance of social change so that some factors are seen as more 
important than others. 


 


 Credit 


 Accurate use of sociological language, concepts and theory, if relevant. 


 Feminism. 


 Changing norms and values. 


 The increase of women in the workplace and status in society increased 
choice of family type. 


 Changing role of men. 


 Legal changes. 


 Applied examples that may have been studied in class. 
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7 (c) Level 1 Limited (0 - 4 marks) 
 


Unacceptable answers will offer responses that display no evidence of 
knowledge or understanding of social structures, processes or issues. If 
some minimal relevant factual material is used then a mark is available. The 
quality of written communication will be basic. 
 


Level 2  Basic (5 - 10 marks) 
 


Five marks are available for basic answers that may address the question 
but that will be underdeveloped and vague. The information offered will be 
minimal and sociological language will not be used.  
 


At the upper end of this mark band, there may be specific reference to 
changes of patterns of divorce, addressing issues such as female equality in 
family structure or changes in norms and values.  There may be reference 
to the development of women’s rights and choice in family type.  There may 
be reference to ideologies of family changing.  The quality of written 
communication will be acceptable, although there may be errors of spelling 
and punctuation. 
 


Level 3  Breadth or Depth (11 - 15 marks) 
 


Eleven marks are available for answers that offer a clear reference to 
specific and clearly identified references to family types perhaps with 
reference to changing attitudes to family life through descriptions that may 
be underdeveloped. 
 


The information offered will display accuracy and sociological language will 
be used. At the upper end of this mark band, there may be specific 
reference to changes of the patterns of childbirth, addressing issues such as 
normative patterns or female equality. There may be reference to the 
welfare state or the changing financial power of women related to their 
earning potential. The quality of written communication will be clear, with 
few errors of spelling, grammar and punctuation. 
 


Level 4  Breadth and Depth (16 -20 marks) 
 


Sixteen marks are available for detailed answers that offer a specific and 
accurate knowledge and understanding of differences in family types and 
reasons for the increasing variation.  There may be reference to the fact that 
some migrant families are more likely to conform to traditional family forms 
such as nuclear or extended than ethnic white population.  The information 
offered will display accuracy and sociological language will be used.  
 


At the upper end of this mark band, understanding may be displayed 
through contrasting and comparative reference to changes of patterns of 
male participation in families addressing issues such as female equality or 
the availability of contraception. There may be an understanding of the 
multi-factorial nature of change, so that no-one change can take place in 
isolation. There may be reference to the growth of child-free families, shorter 
relationships or the changing financial power of women related to their 
earning potential. Answers will demonstrate a good application of 
knowledge with examples and specific factual evidence. The quality of 
written communication will be good, with few errors of spelling, grammar 
and punctuation. 


10 
 


10 
 
 


AO 1 
 


AO 2 
















Sticky Note

Cafodd yr ymgeisydd 8 marc. Mae wedi cyfeirio a disgrifio sawl math gwahanol o deulu. Mae hefyd yn cyfeirio at y newidiadau o safbwynt rolau teuluol. Mae dealltwriaeth cymdeithasegol yma ond byddai cynnwys mwy o dermau technegol yn gwella'r ateb. 







Sticky Note

6 marc. Mae'r ymgeisydd wedi cyfeirio at dau rheswm digon dilys. Er mwyn ennill mwy o farciau, roedd angen cynnwys oleia un ac, os yn bosib, dau rheswm arall. Er bod yr ymgeisydd yn defnyddio peth iaith cymdeithasegol, byddai ychydig o dystiolaeth penodol yn gwella yr ateb. 







Sticky Note

Mae'r ymgeisydd yn dueddol o ysgrifennu am resymau dros y cynnydd mewn ysgariad yn hytrach na rhesymau pam bod agweddau tuag at ysgariad yn newid. 







Sticky Note

Mae'r pwynt yma yn aneglur ac yn gymysglyd. 



Sticky Note

Mae ymdrech i drafod yma ond eto roedd angen cysylltu yn uniongyrchol gyda'r cwestiwn. 



Sticky Note

11 marc. Mae peth gwybodaeth perthnasol yma. Gellid fod wedi datblygu y pwyntiau yn fanylach, ffocysu mwy ar y cwestiwn a cynnwys mwy o dystiolaeth. Efallai bod prinder amser yn ffactor i'r ymgeisydd yma. 
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Cwestiwn 7	 Y Teulu


	 (a)	 Disgrifiwch ffyrdd mae teuluoedd wedi newid yn ystod y blynyddoedd diwethaf.	 [10]


	 (b)	 Eglurwch resymau pam mae rolau dynion a menywod yn y teulu wedi newid.	 [10]


	 (c)	 Gan ddefnyddio gwybodaeth gymdeithasegol, trafodwch resymau pam mae
		  agweddau tuag at ysgariad yn newid ym Mhrydain fodern.	 [20]












1 








 


 


 


 


 


 


 


 


 


 


 


  


2 








 


 


 


 


 


 


 


 


 


 


 


  


3 








 


 


 


 


 


 


 


 


 


 


 


  


3 








1 








 


 


 


 


 


 


 


 


 


 


 


  


 


 


 


  


2 








 


 


 


 


 


 


 


 


 


 


 


  


 


 


 


  


3 








 


 


 


 


 


 


 


 


 


 


 


  


Q3 







